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INSTRUCTIONS
Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet.
This Test Booklet contains 50 items (questions). Each item comprises four responses
(answers). Choose only one response for each item which you consider the best.
After the candidate has read each item in the Test Booklet and decided which of the given
responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with ball point pen as shown below. H.B.
Pencil should not be used in blackening the circle to indicate responses on the answer
sheet. In the following example, response “C” is so marked :
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Do the encoding carefully as given in the illustrations. While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding to
the choice in full and no part of the circle should be left unfilled. You may clearly note
that since the answer sheets are to be scored/evaluated on machine, any violation of the
instructions may result in reduction of your marks for which you would yourself be responsible.
You have to mark all your responses ONLY on the ANSWER SHEET separately given.
Responses marked on the Test Booklet or in any paper other than the answer sheet shall
not be examined. Use ball point' pen for marking responses.

All items carry equal marks. Attempt all items.

Before you proceed to mark responses in the Answer Sheet fill in the particulars in the
front portion of the Answer Sheet as per the instructions.

After you have completed the test, hand over the OMR Answer sheet to the Invigilator.
In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be treated as correct and final.
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GEOGRAPHY
Paper II
‘Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— This paper contains fifty (50) mulfiple choice questions. Each question carries

two (2) marks. Attempt A/l of them.

1. Who used the term ‘Isostasy’ first time ?
(A) Swess ~ (B) Daly
(C) Dutton (D) Wagner

2. Theory of Plate Tectonic assumes that earth is COMPOBBA CFERE .....ovuoveomsicsvsrasornss

major plates.
(A) 5 : (B) 6
Cc) 7 (D) 8

3. Which one is not related to glacial landform ?

(A) Drumlin (B) Kame '
(C) Kettle (D) Barchan
4. The tofal annual insolation is the hiéhest at :
(A) Tropic of Capricorn (B) Tropic of Cancer
(C) Hiéh latitudes region (D) Equatorial region
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5. Which of the following years of data is used for climate studies in India ?
(A) 25 years (B) 30 years
(C) 35 years (D) 40 years

6. Which of the following is not used in Thornthwaite’s method of climatic

classification ?

(A) Air pressure emciéncy (B) Precipitation efficiency
(C) Thermal efficiency (D) Moisture index
7. Which one is not warm current ?
(A) Gulf stream (B) Brazilian current
(C) Humboldt current (D) Kuroshio current

8. The term ‘archipelago’ is known as :

(A) a group of islands (B) a large iceberg

(C) a group of fiords (D) a large scale coral formation

T.B.C. : 35/13/ET 4



5 frefafeg 3§ @ feay od 1 sifwe uRd # Soeg & swEd $ fag s fem

Sl
(A) 25 9 (B) 30 od

(C) 35 a4 (D) 40 ad
6. Frefafan # @ A gl @ woay wfem § @ swdm e s ¥ 2
(A) 91 <@ TEA (B) = @ &
(C) adE &l (D) STR@ FEH®
7. frefafes § ¥ S ™ Soew @ g 2
(A) TF EH (B) WSl STeTeRI
(C) THElee STEr (D) IR FAU
8. ‘owiverel’ VR ¥ ¥ awd ¥ ?
(A) 6l F 9YE (B) 9&q e

(C) frard =1 998 (D) Teq yara fafal
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9. Coniferous forest belt has maximum extent in :
(A) Northern part of Eurasia (B) Northern part of Canada
" (C) Northern part of Japan ] (D) Northern part of India
10. that is the other name of Savanna grasslands ?
(A) Taigas (B) Parkland
(C) Selvas 5 (D) Pustaz

11. Who among the following cannot be classified as an Arab Geographer of

medieval times ?
(A) Al Idrisi (B) Al Mugadissi
(C) Ibn Khaldun (D) Falconer Al Hindi

12.  Which of the following is not an emerging subfield within contemporary

geography ?
(A) Emotional Geographies (B) Care Geographies
(C) GIS and Remote Sensing (D) Geographies of Media

I'.B.C. : 35/13/ET 6



9. HIUYN a9 F1 Afuway fawar wE ¥ 2
(A) =l e (B) W AR
(C) 3w m9H : D) s WA
10. T Ty w1 qEU AW = Y ?
(A) &m (B) UEHwUS
(_C)@raam | . D) g

11. frafafed ¥ 4 foas 9@ & 3G Yieew & &9 § aified 7@ fHar =0

wHa 7
(A) 1 s (B) a1 gahIeHt
(C) 7= Tregd : (D) w3 f&

12. frAfafes § ¥ S adu9m e &1 39 398 T8 & 2
(A) WIEAHS e (B) ‘@@ i

(C) +.2TE.ug. T ggT Taed - (D) wifem &1 yiw
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13.

14.

15.

16.

Who among the following authored “Exceptionalism in Geography” ?

(A)

(©)

Hartshorne

Schaeffer

(B) Harvey

(D) Ritter

Which of the following is not a type of migration ?

(A)

(©)

Male selective migration

Stepwisé migration

(B) Daily migration

(D) Seasonal migration

Which of the following is not a “push” factor of outmigration ?

(A)

(©)

Poverty

Environmental degradation

Which one is not correct ?

(A)

(B)

©)

(D)

Population of Country

China

USA

Brazil

Pakistan

T.B.C. : 35/13/ET
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13.

14.

15.

16.

frafafas § & # “wRwEfrs = SR 5 9ew T 2

(A) ®reie : (B) ®&

(€©) ¥ S D f=

frefafea § @ s yam =1 R 98§ & 2

(A) &9 Faft@ warg (B) 2w waw
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(A) Tt (B) wreifas &7

(C) vafeRvig f=fieo | (D) SER nfdE /Ew

frafafea 4 @ S w6 @ & 2

T W SEEEAT fava ¥ W
(A) = 1
(B) 3.uwg.u " 4
(C) wfte 5
(D) wrferE™ 6
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18.

19.

20.

What is the shape of settlement near river areas ?

(A) Square (B) Oval

@ Tinear h (D) Rectangilar

Who has been credited for the nested hierarchy theory of settlement ?
(A) Jefferson (ﬁ) Christaller V

(C) Ullman (D) Dickinson

Which centrality factor determines the shape of the roof of a house in any

region ?

(A) Water availability in the region

(B) Land suitable for cultivation in the region

(C) Climatic conditions of the region

(D) Material available for roof in the region

Which of the following 'is an example of footloose industry ?

(A) Iron and steel industry (B) Cotton textile industry

(C) Software industry (D) Petro-chemical industry

T.B.C. : 35/13/ET 10



17. €1 & oHvadt &= H afueardl =1 3R #= B § 2
(A) =R (B) SUETHR
(C) Ya® (D) STIAHR

18. ﬁmﬁmmmfaﬁammmmm%?
(A) SHTEA (B) fowrr
(C) et | (D) fefr=m

19. freht ww # w0 F v B AER B P FwRE Fwife ww@ o2
(A) W91 # el 1 SHCTSIAT
B) Wy ¥ Fu F fou swgw 9fa
(C) WY & SeEryg T
mfﬁwﬁ@ﬁ%ﬁﬁw%mmm

20. ﬁmﬁw@aﬁ}@mwmmw%?
(A) <@ qe TEE SEn (B) gt I% 3@

(C) HiFza=R & (D) -\ S
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21.  Which of the following is most affected by the market factor ?
(A) Farming (B) Mining
(C) Manufacturing industry _ (D) Transport

22.  Crop specialisation is the most important characteristic of .........cccccveeveeenn...

farming.
(A) Commercial (B) Mixed
(C) Subsistencf, s (D) Mediterranean

Rd

23.  Who gave the concept of Least Cost Theory for industrial location ?
(A) D.M. Smith (B) Von Thunen
(C) Carl Marx (D) Weber

24. Which of the following was not a feature in Von Thunen’s theory of

agricultural land use ?
(A) Perishability of the crop (B) Weight of the product

(C) Threshold population (D) Transport cost

T.B.C. : 35/13/ET 12



21. Frefafad § 4 s anfds fen sfusive: a1 sns 9 gafsg 2
(A) Ff (B) &
(C) fafmfor 3= ‘ (D) =

22. e fadder feg HfY 9 WA meet e & 2
‘(A)mﬁmw (B) fufsa fa
(C)ﬁ%fa%' ' (D) EeEEE Hf

23. diElifs S=iem & fou =@ @ve fogia 51 9% feay & 2
(A) Sl fog | (B) df e+
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(C) YR SHEE (D) FEEE ST
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25.

26.

27.

28.

Which one of the following is not a UNESCO recognised Indian Railways ?
(A) Darjeeling Himalayan Railway (B) Nilgiri Mountain Railway
(C) Kalka-Shimla Railway T (D) Jodhpur-Jaisalmer Railway
The following term fs significant to Heartland Theory :

(A) World Politics (B) World Island

(C) World Population (D) World Trade

Which of the following is not associated with the concept of “Nation” ?
(A) Sense of belonging -(B) Constitution

(C) Shared cultural symbols (D) Sense of shared history
Concept of social well being is drawn from :

(A) Political Geography (B) Welfare Geography

(C) Cultural Geography (D) Geography of Gender

T.B.C. : 35/13/ET 14



25. ﬁwﬁf@aﬁém@mmwmmmaﬁ%?
(A)aﬁfﬁwﬁnmiaé (B) FafiR werdt e
(©) - Yl T D) SR
26. mﬁ@mwmm%mm@%?
(A) fava TsHifa (B) fawa g
(C) fava sage ' (D) fava =R
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T.B.C. : 35/13/ET 15 ; P.T.0.



29. A set of characteristics to denote a population as tribal was given by :
(A) Hartshorne (B) Hammendorf

(C) Harvey (D) Huntington

-
7

30.  Regional imbalances in dev.elc;pment are due to :
(A) Historical reasons
(B) Geographical reasons
(C) Unevenness of infrastructure
(D) All of the above
31.  Which of the following is not a planned city ?
(A) Chandigarh (B) Bhubaneshwar
(C) Varanasi (D) Jaipur
32. The name Shilla repxtesents a3
(A) River (B) Bird

(C) Peak (D) National Park

T.B.C. : 35/13/ET 16



29. ﬁmmmamammﬁmmmmwmmmng7

(A) @ (B) #HI=I®

(C) =& - (D) Efemes
30. f‘ammﬁuﬁﬁmaﬁgmﬁm%m@a%r?

(A) Tferfas R

(B) siFiifersr o

(©) W%mmmm

(D) o |eft
31. ﬁw%rﬁgaﬁ@aﬁaﬁwﬁﬁﬁawﬁ%?

(A) =Ehme (B) yaveR

(C) R (D) SER
32. ﬁmwmm%?

(A) =&t (B) it

(C) =t D) TEE IEH
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33.  Correctly match between state population and their ranking as per 2011

Census :

State Population Rank
(@) TU.P. . (1) 3
(b) Maharashtra ‘ (2 1
(¢) Bihar 3) 4
(d) West Bengal (4) 2
(e) Andhra Pradesh (5) 5

@ ® © @ @
a) 2) @ (4) 3) (B
B 2 @ @O @G G
C) 2 @ @O G @
M @O @ @) @ G
34.  Sirmaur District of Himachal Pradesh is known for the :
(A) Highest population density
(B) Highest agricultural area
(C) Highest number of industries

(D) Highest percentage of tree cover

T.B.C. : 35/13/ET 18



33. 2011ﬁw%mwﬁma3ﬂaﬁm-m3ﬁaﬁm
Hifsg -

ﬁwﬁmﬁw '. Hife

(@ Zf | £ (1) 3
(b) wERTS @ 1
(c) famr 3) 4
(d) | & 4) 2
(e) 3w 9’3'?!. . G) 5

@ ® © @ @
A @ @O @ @ 6
B @ @ @O @ 6
© @ @ @O 6 @
M 1 @ @ @ 6
34. Teumm ww w1 fauin foen feas fou sfag & 2
(A) sifman SEEn ST
(B) #Afymran =fy &
(C) =Afy=maw =W T T

(D) =fywran & T=Ifea wiavm
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35.

37.

38.

T.B,0: 3

Which one of the followihg is incorrect ?

(A) Barail range. separates Naga hills from Manipur
(B) Dhupgarh is the highest peak in Satpura

(C) Niti Pass is in Hima‘chal Pradesh

(D) Hispar Glacier is moxl'e than 60 km in length
Which type of soil covers maximum area in India ?
(A) Vertisols (B) Alfisols

(C) Entisols ' (D) Inceptisols
The population of India is almost qombined population of :
(A) Indonesia, U.S.A., Brazil

(B) Indonesia, U.S.A., Brazil, Pakistan

(C) Indonesia, U.S.A., Brazil, Pakistan, Bangladésh

(D) Indonesia, U.S.A., Brazil, Pakistan, Bangladesh, Japan

The term Megalopolis was coined by :

(A) Christaller (B) Gottman
(C) Jafferson (D) Burgess

35/13/ET 20



35. frfafaad § ¥ e & om § 2

() = o wefed W R @ s Wl #
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D) fER ARER #H 7= 60 fmdt. ¥ afus 3
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39.

41.

42.

A Thematic map is :

(A) Atlas map

(B) Remote sensing map
(C) Topographic map

(D) Special purpose map

Which one of the following is the most suitable' method for showing growth

of populatign. ?

(A) Pie diagram : (B) Population pyramid
(C) Line graph . (D) Circle diagram
Equal degree of ocean salinity is depicted through. 3

(A) Isohaline (B) Isohyet

(C) Tsocline (D) Isobar

Choropleth map is mostly used for showing :

(A) Population growth (B) Population density

(C) Population distribution (D) Composition of population

T.B.C. : 35/13/ET 22



39. U fudfes wmfes fofm me =1 & 2

(A) TEEH T

(B) g3 Hagd "EfaH

(C)mﬁmﬁa

(D) fav a8 # yeffa $W@ amn qEfas

40. ﬁwﬁf@aﬁﬁﬁw@mqﬁaﬁﬁ@ﬁﬁmm%?
(A) E IR@ .(B)tﬁmﬁ"{m
(©) Y@ sma ' (D) I9 IN@

41. mmﬁﬁ@ﬁwmaﬁwm%?'
(A) eTgEiReTE (B) ezdErEe
(C) eI : (D) WYX Y@

12. DA THAfEA 1 Faifus STEn Y s @ fow B & 2
&) waen 3fs (B) wHEEA
(C) SgEn faawo (D) SHEE G
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43.  Which one of the following is not associated with geographical information

system ?
(A) Raster ; (B) Vector
(C) Ground Control Point (GCP) (D) Irc info software
44. Digital Image Processing deals with :
(A) Computer analysis of data E
(B) Visual analysis of data
(C) Stereoscope based analysis of data
(D) Statistical analysis of data
45. Which one of the following is not for measuring relationship ?
(A) Standard deviation . (B) Multiple correlation
(C) Scatter diagram (D) Regfession analysis

46. A non-parametric test for correlation between two variables expressed on a

rank is known as :
(A) Product-moment correlation (B) Autocorrelation

(C) Spearman correlation (D) None of these

T.B.C. : 35/13/ET 24



43.

44.

45.

16.

(C) Ts= *=gm We=w (W) (D) = ==H wreen
fefsea o8 wdfan =1 @19 & .

(A) FPX g SAFE F1 favemy

(B) fagsre fafy gro eifwsi =1 favey

(C) mmaﬁ%ﬁmﬁw

(D) wiferwra fafy gm siftwsl =1 favemy

frafafes # ¥ St wegay oo =1 fafy 58§ 3 2

(A) wFF fawem (B) wgHEAT Weday

(C) fag9 (w=il) fom (D) wftswHor faverm
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(C) TgA Weday D) T | #E =&
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47. Calculate the average mean of marks secured by 10 students :

Roll No. Marks
1 " 48
2 60
3 g 52
4 70
5 50
6 ' 80
r 38
8 72 |
9 60
10 40
(A) 54 (B) 55
(C) 56 _ (D) 57

48. Which one of the following represents 2.149 value in nearest-neighbour

analysis ?
(A) Random distribution (B) Clustered
(C) Uniformly distribution (D) None of these

49. Which one of the following is the largest industry in India ?

(A) Sugar industry (B) Tea industry
(C) Coffee industry (D) Cotton textile industry
50. In any distribution taking every fifth member of the population is
known as :
(A) Random sampling (B) Nested sampling

(C) Stratified random sampling (D) Systematic sampling.
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47.

48.

49.

50.

za famfddl gm0 Wil W SEER W 3mSR -

e . TR
1 - 48
2 60
3 52
4 70
5 50
6 80
7 38
8 72
.9 60
10 40
(A) 54 (B) 55
(C) 56 _ D) 57
frefafed § & s & frate J=r fawaew § 2.1490 9o & gufa & 2
A) Ifes (F=m) famm (B) ¥Hed (T=0)
(C) TuA faam D) 9 § w8 &
wa § frefafes § 4 S9@ ©F @8 a1 S8 9 S ¥ 2
(A) = zEm (B) =M@ &M
(C) wfwr 3T (D) Get F&= 3@
ferdt off oo # gufic & y&s 999 989 F1 994 0 H = wEd § 2
(A) agfess giaezm (B) ifer wfaeras
(C) wwiFa Al wfaaq D) wHag gia=Eaq
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